	1. Which configuration actions can’t be done by the Operator: 
(a) Eyecup & Shroud Removal/Installation
(b) OIS Throw-Lever Lubrication
(c) OIS Throw-Lever engagement to weapon rail inspection
(d) Operator Installed Spacer (OIS) Removal/Installation
(e) Rail Grabber Removal/Installation 
	11. The TWS is water resistant to: 
(a) 1m
(b) 10m
(c) 30m
(d) 100m
(e) The TWS is not water resistant 

	2. The LWTS is intended for use on: 
(a) M136 AT4 Series 84mm Rocket Launcher
(b) M249 5.56mm Machine Gun
(c) M240 7.62mm Machine Gun
(d) M4 5.56mm Carbine
(e) A & D above 
	12. TWS detection range: 
(a) Is typically greater than that of an I2 night vision device
(b) Will degrade in high humidity
(c) Is not significantly affected by most smoke
(d) Is not affected by absolute darkness
(e) All of the above 

	3. The TWS batteries should be warmed in cold weather by: 
(a) Warming them over a fire
(b) Microwave oven
(c) With body heat, by placing them in an inner pocket 
(d) Placing them on the engine block of a running vehicle
(e) All of the above 
	13. Manual Gain (Contrast): 
(a) Should be used when time and circumstances permit
(b) Should be used to pull detail of interest out of a scene
(c) Adjust the range of scene temperatures on the display
(d) Can result in an unusable image.
(e) All of the above 

	4. TIR energy passing through the atmosphere is subject to: 
(a) Attenuation
(b) Absorption
(c) Scattering
(d) Transmission
(e) All of the above 
	14. Alkaline Batteries: 
(a) Should never be used in the TWS
(b) Can’t be used in the TWS in high temperature environment
(c) Provide better battery life than lithium batteries 
(d) Provide unacceptable performance at cold temperatures
(e) None of the above 

	5. TIR energy effectively penetrates: 
(a) Dust
(b) Most Smokes
(c) Water
(d) Glass
(e) A & B above
	15. For Clip On use, the mounting constraints are: 
(a) TWS must be mounted on forward top rail
(b) Day Optic must be mounted on upper receiver
(c) TWS Eyepiece must be touching Day Optic Objective Lens
(d) Rail Grabbers/Mounts fully seated & not overhang the rail 
(e) A, B & D

	6. The diurnal cycle is: 
(a) Heat/cooling cycle of seasonal differences through the year
(b) The heating/cooling cycle through a day
(c) The effect of water on the thermal scene
(d) The period of time between latrine visits
(e) None of the above 
	16. The LWTS on an M4/M16 is zeroed for a range of: 
(a) 25 m
(b) 100 m
(c) 300 m
(d) 10 m
(e) The TWS is Sight aligned to this weapon 

	7. The gap between horizontal lines of the M4/16 reticle is: 
(a) The height of a tank at 100 m
(b) The 300 m aim point
(c) The height of a man at 200 m
(d) The width of a man at 25 m
(e) None of the above 
	17. The LWTS max effective range for personnel (clear air) is: 
(a) 25 m
(b) 750 m
(c) 550 m
(d) 1300 m
(e) The LWTS is not effective for recognizing personnel

	8. The TWS should be calibrated: 
(a) Once
(b) Before zeroing
(c) Whenever needed
(d) More frequently during the first hour of operation
(e) C & D above 
	18. The LWTS WFOV Horizontal FOV is: 
(a) 9.1°
(b) 18.1°
(c) 24° 
(d) 2X magnification
(e) Variable 

	9. The TWS functions that are not available for Clip On use: 
(a) NFOV
(b) Reticle Polarity
(c) Windage & Elevation Adjustment
(d) Zero Mode
(e) All of the above 
	19. The Remote Keypad performs which of the following: 
(a) Turns the TWS ON
(b) Turns the TWS OFF
(c) Calibrates the TWS 
(d) Adjusts selected function” Up” or “Down”
(e) B, C and D 

	10. The 25m offset when zeroing Day Optic with TWS Clip On is: 
(a) 4.8 cm
(b) 10.1 squares
(c) 8.7 cm 
(d) N/A
(e) None of the above 
	20. At 25m, one WFOV Reticle Click moves round impact by: 
(a) ≈ 1.24 cm
(b) ≈ 0.6 in.
(c) ≈ 1 square on 25m target
(d) ≈ 0.41 cm
(e) A & C above



